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Question-
1

To estimate the proportion p of defective light bulbs produced in a factory, a sample of 180 bulbs
were tested. In this sample 27 were defective. We will compute a 95 percent confidence interval for
p. Compute the margin of error e in esimating p at 95 percent level of confidence.

 
 
Answer 

 Question-1
This is a Numerical­Answer Type Question

MOE = e =

Points 5.00
 
 
Question-
2

Refer to Question 1. Compute the conservative margin of error E in esimating p at 95 percent level
of confidence.

 
 
Answer 

 Question-2
This is a Numerical­Answer Type Question

Cons. MOE = E =

Points 5.00
 
 
Question-3 Compute the left end point l of a 95 percent confidence interval for p in Question 1.

 
 
Answer 

 Question-3
This is a Numerical­Answer Type Question

LEP =

Points 5.00
 
 
Question-4 Refer to Question 1. Compute the right end point u of a 95 percent confidence interval for p .

 
 
Answer 

 Question-4
This is a Numerical­Answer Type Question

REP =

Points 5.00



4/16/2018 Home Work on The Web : Teacher's Page

https://www.math.ku.edu/~mandal/cgi-bin/teacher365edit.cgi?semester=Summer2017&hwNumber=25&teacherId=satya&studentId=guest&dueDate=2017-07-27&reqType=11&lineN

 
 
Question-
5

In certain areas AIDS-HIV epidemic may a concern. A sample of 176 people were examined for
AIDS-HIV and 44 were found to be infected by AIDS-HIV. 

 We will compute a 99 percent confidence interval for the proportion p of people who were infected
by AIDS-HIV. 

 Compute the margin of error e in estimating p at 99 percent level of confidence.
 
 
Answer 

 Question-5
This is a Numerical­Answer Type Question

MOE = e=

Points 5.00
 
 
Question-
6

Refer to Question 5. Compute the conservative margin of error E in estimating p at 99 percent level
of confidence.

 
 
Answer 

 Question-6
This is a Numerical­Answer Type Question

Cons. MOE = E =

Points 5.00
 
 
Question-7 Refer to Question 5. Compute the left end point of a 99 percent confidence interval for p .

 
 
Answer 

 Question-7
This is a Numerical­Answer Type Question

LEP =

Points 5.00
 
 
Question-8 Refer to Question 5. Compute the right end point of a 99 percent confidence interval for p.

 
 
Answer 

 Question-8
This is a Numerical­Answer Type Question

REP =

Points 5.00
 
 
Question-
9

In a sample of 197 apples from a lot, 19 were found to be sour. In this question and the next two, we
will set a 99 percent confidnce interval for the proportion p of sour apples in the lot. For this
question, give the left end point of the confidence interval.
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Answer 
 Question-9

This is a Numerical­Answer Type Question

LEP =

Points 5.00
 
 
Question-10 Refer to Qn. 9. Give the conservative MOE.

 
 
Answer 

 Question-10
This is a Numerical­Answer Type Question

Cons. MOE =

Points 5.00
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